EARAROBREBRT —5 XN—ZXBISH—F 20224E128178 (£) 6EIHR5H

L =EiEs 3Bo52 USR3FBLE (BD) (5 T8 BRI E
[AE%) 1 & :18,400,000 @ 2 3#&:7,400,000 3 3&:4,600,000 9 4 3% :2,800,000 5 & :1,840,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. ® el : -7-7- ARIREEE (R
1 3| = RNA7— B4 o 1.&1).1 5-7-7-7 | 36.6|103.1| 4 (4362) Ehﬁ%ﬁ%
RiAZ—ka1—X &:Id—)LR7O-U— BT 7—L4
W 4 3 | BRERK 1:54.1 15-15-7-7 | 36.6 | 103.1 | 1 478 | EWLER (FR)
215]10| FoEY 5.0 ) 2 |
RiFVh—0 B:EIU—F #B) #BaI-—RL—vavEEI 7
=— ty 5 | EHB 1:54.2 2-2-2-2 |37.3]101.3| 10 494 | HTRERIE (R
3/8[15| YY—==RF— 57.0 ) o |THEX
RIVZAI—ZZRI— B:y—d7—I7 BEI7—L
= = 4 | REN 1:54.4 11-11-10-7 | 36.8 [ 100.3 | 12 | 528 |EMES ()
417014 292>—L # 57.0 (3/4) ) #) O—LIbb—y27
RiA—WRTA B:EF/IVT—) 2B B
= ~ w3 | IERE 1:54.4 5-5-4-5 | 37.1]100.2| 2 490 |EEZRE (RR)
sEjs A7 0Y 5.0 ) e |ETER
RiFIYYTSwo BNZTU—X TS
= , o4 | BERE 1:54.4 3-3-3-3 [37.4| 9.2 | 6 | 510 |#ZWEERE R
o1 TAILNIN 57.0 @e) #8) TELE
RiXAY3OR—5— B I—-YUEaUT« [k e
S = o4 | EPE 1:54.4 11-11-10-12| 36.7 | 100.3 | 7 488 | EHRE (R
d : BEECEEE P 5.0 ) e |HHITIE
RIZTvFE—TAI BAALYIVRF—I =
2 LA o5 | dERR— 1:54.5 1-1-1-1 [37.6| 97.1 | 9 516 | MAKEE (FER)
81816 LUAH—AXRZAH 57.0 (3/4) +10) | LIEESAES
RiFRF B:FUVERARZA [t ]
= OH % 5 | B. ALYNT 1:54.7 5-5-4-5 |37.4] 97.1 | 11 | 480 |HdFEE (RH)
9|7[13] Y= I 55.0 Gd) 1) |EEERTILD
RiIW—>—yvZF B:EVO-TJOVR /=Y ITr—1L
R e 4 | EIBFKRR 1:54.7 8-9-12-12 [ 36.9| 97.5 | 8 502 |{ERAR= GRR)
10012 | M7V y RTAX " 57.0 &) 46 |, @) #HBL—REK—2
RIET7RAT7 B:T709IvIT7A HBEIT7—LA
¢ ) — R 3 | RGER 1:54.7 14-14-12-7 | 36.9 | 97.5 | 3 52 | Ef (FH)
1 12 aJ)N/ =3V 56.0 N\F) () |\
R:aAN/UwHF— B:YIT«T7I—Va Elte]
. P KEFIRRE : -16-16- hESIE (FEFR)
1 7| BRIX IR v 5 ?;.o (11515/2(; 16-16-16-16| 36.7 | 94.8 | 14 (4:1;1) TRAL
R:O—AFVI7L B:IJ=-0F v i e ]
=y 3 5 | BHEB= 1:55.1 11-11-15-14| 37.0 | 93.7 | 15 | 484 |BIEE (ER)
1311113927 Rky—2 [B] * 55.0 (/4) (+4) M) G1L—v>7
RiFAIRXIv— B:T4—=UVT =V (\) #HB81-RU—yavEEI7
> s 4 | ERGEE 1:55.3 8-8-7-11 [37.8| 90.4 | 5 482 | BOEN &R
14l5|9 | LF¥HLL [B] 5.0 3/4) (g |PIBEF
R:FRAF #:O0-UILF7VIa NE #®X
2 ~ o5 | AR 1:55.4 3-3-4-3 |38.2] 87.2 | 16 | 464 | KiESE W)
15 8 IAH—BALVR 57.0 (172) () | PERAOX
R:ALYITSwoel B:FS5F4—3X PRI SR
rp=__ == t 4 | SRER 1:56.0 10-9-12-14 | 38.1| 83.8 | 13 | 48 |EMERE— (FH)
16 4 +I=—57 # 575.0 (31/2) (+4) (%) RU—IAFL—Y VT
RUFPIAVINT N B:TURsNEOY J—YUTr—L
[ BN
En'w 50.2-37.2
NOVIA L | 12.6-11.3-13.6-13.4-13.0-13.0-12.9-12.1-12.2
@ 11— —B&IEfI
10—+— (*16,15) (8,11) (3,5,13) (2,9)4(1,6,14)12,10,7
20— — 16,15(8,11) (5,13)3,9(2,4) (1,6,14)12,10-7
30—7— (+16,15)11(8,5,13) (3,9,10) (6,14) (2,4,12)1,7
43—F— (x16,15) (8,11) (5,13) (3,10,14,12)9(2,6) (1,4)7
o ILRE
BB 3 640M] JA R 3-10 5803 % 3E 2-5 1,050 3EE 3-10-15 17,720/
B B 3 2004 3-15 2,750M 5 E 3-10 1,480 3EH 3-10-15 93,3004
10 170M 10-15 3,280H =51 3-10 3,370
15 8204

ABIC OV TRUTEREERRODDZE. THRIIZEL.



